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R4, He s | EXsg | EXE
= (88) (88) (%)
B & 1,982 24 1.21
= F|[ 11,991 236] 1.97
) 3, 181 61| 1.92
® H 2,533 8 0.32
i 1,735 20  1.67
& 3, 400 68| 2.00
KW 5, 351 91 1.70
TS 8, 263 183 2.21
BE B 13,475 231 1.71
B E 1,271 31|  2.44
T % 4, 884 109] 2.23
WO 798 14 1.75
21 1, 244 49|  3.94
E TR 1,618 7] 1.05
[ 513 ol 0.00
oo 267 4] 1.50
fm 264 ol 0.00
TTE2 1, 543 35| 2.27
E ¥ 3, 942 79 2.00
A 2,411 2711 1.12
i | 1, 879 73] 3.89
= A 6, 525 84| 1.29
= H 250 3] 1.20
W A 933 o[ 0.00
AR 969 12 1.24
NI 231 ol 0.00
L JE 3, 663 56] 1.53
= B 31 ol 0.00
FOER L - - -

&l 6, 220 62 1.00
BB 851 2 0.24
EIT 5, 057 106 2.10
s B 1,776 6] 0.34
= 985 o[ 0.00
) 952 6] 1.68
il 587 4 0.68
= IR 2,597 21|  0.81
5 743 o] 1.21
& [ 6, 437 o1 1.41
e A 709 41  5.78
£ IR 1, 196 25| 2.09
BE K| 16,780 211 1.26
X & 2,030 56 2.76
85 4,431 17  0.38
JEE R 7,037 40 0.57
P 783 71 0.89




